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MEC-005 : INDIAN ECONOMIC POLICY
Time : 3 hours Maximum Marks : 100

Note : Attempt the number of questions as per instructions
given in each section.

SECTION A

Attempt any two of the following questions in about
700 words each. , 2x20=40

1. Examine the two-way relationship between
population and economic growth. In the
prevailing demographic situation in India,
suggest policy measures to make human
resources a better and positive factor in
economic development.

2. As India increasingly emerges in the ongoing
process of globalisation, India’s external sector
policy as well as  domestic policies are
replacing the import-substitution strategy by
export-promotion strategy. Make a brief

- assessment of these policy changes. :
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Critically evaluate the industrial policy reforms
introduced during the last two decades. Do you
think that total factor productivity has declined
in the post-reform period ? Outline an agenda for
policy reforms in the changing global
environment.

Do you think that decentralization is a better
alternative to bureaucracy in effective
implementation of economic policy ? Give

- illustration in support of your answer.
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SECTION B

Attempt any five of the followmg questions in about
400 words each. 5x12=60

5. Point out the various supervisory functions of
SEBI.

6. “The current agricultural situation in India
" reflects more the limitations and failure of
agricultural policy rather than obtaining
domestic or international environment.” Do you
agree or not ? Give arguments in support of your
answer,

7. Identify the major issues in Union-State
financial relations.

8. Explain any threevof the following : 3x4=12
(a) Gadgil formula
(b) Appropriation bill
(¢) Balance of payments
(d) Tax evasion

(e) Role and significance of agricultural
investment

(f)  Subsidies as a policy

9. “In the fast changing global environment, India’s
policy towards public sector enterprises needs to
- be re-visited.” — Comment.
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10. What measures have been _initiated by the
States to remove and reduce their fiscal
imbalances ?

11. Explain the distinction between direct and
indirect instruments of monetary policy.

12. Differentiate between any three of the
following : 3x4=12

(a) Membership based organisation and
Non-governmental organisation.

(b) Horizontal imbalances and Vertical
imbalances

(¢) Greenfield investment and Take-over by
MNCs.

(d) Public debt and National debt

(e) Corporate farming and Contract farming
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TH.U. (ALIeR)
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w.3.41.-005 . AT onifele Hifa
9T : 3 g2 3fepaq 37 : 100
Fz: mw##ﬁqwﬁé@mm%ma‘lﬂw

WU ®
Fefrfa & @ fagl @t 7l & I P | 39% T
FT I T 700 95T 7 g | 2x20=40

1. SEE @ e waig ¥ f9 el e W
e ST | wrE § fremm witee Rl %
T § e e g awda GEmeEl B IER
Td GHENHF Fh o & forg dfifom e
gere] | '

2. dvdietor i T AfE § WHa AW I 4G W
3, wra & T 4 f A @ wg a7
Hft o ffa-gad & wrift smm-sfeaa 6
Ay # A A W@ ¢ Aifea wRedd W
Hftr geaie AR |
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3. < Q cwwl A Y& e T e ffra
YURl 1 SATAHTHS ediehd i | &1 39
TET AMd & foF guRIeRee ¥ Fe Reh Iedreshdl
7wt 5} 2 dood AW e # i
Ul ¥g T RS H o AR |

4, F AW WET AFQ 2 f e fify ¥ uwreh
frare § Redem eerd w1 @ SeE
ﬁm%?mm%mﬁmﬂﬁm
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5. At & faftm fFAleumes (Superv1sory) HET B
| qase |

6. “9Ra A FdwW FN H fufy femm W ewan
F<ig afew (TRRRf) & o N Hifr H
Hard we smwead At yefdfa =t 7 17w
MY TH HYT W FEWd & A TG ? JW IW F
T # T A |
7. H5UE % R sl @ gwfRe 5o gE W
B G |
8. frafufga d a fFdl v A AT . 9xe=12

(31) Tefret wRiEn
(@) fafnm (wf=iiv) foet (Appropriation bill)
(V) e dged
() a9 (Tax evasion)
(@) it fafdm f g @ wg
() Hifa &% &9 # P wand (Subsidies as a
policy)
9. “&ft ¥ wgera AT aidw § gl Il &
wef¥a wra H Afa d @R (re-visit) B
JaggeRal 8 1”7 — fevauft Hifn |
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10. Rl sra=ge I QL AN HF FA § TS g HH
$ ¥ THeH IBT Y § ?

11. s iy F yoaw @ uwEn Tu= 7 R W
HifT |

12. frafaRea I & 6 7 & 9 3R ¥A18T : 3x4=12
(1) T G WA al RNETHR J1eA
(@) fufech omgem ao FeREE  IrEeH

(Horizontal imbalances and vertical
imbalances)

(@) dfas fafreim qon sgofe wfEl g aETE
(Greenfield investment and take over by
MNCs).

(3) wrEiTHe 0T qUT T 00
(@) Fooflm SR T 3 W omwRE HN

(Corporate farming and Contract farming)
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